
Math 125, Sections C and F, Fall 2014, Midterm I 

October 16, 2014 

TA/Sectio.~------------------------------------------------------------------

Instructions. 

• There are 4 questions. The exam is out of 40 points. 

• You are allowed to use one page of notes written only on one side of the sheet in your own handwriting. 
Hand in you note sheet with your exam. 

• Calculators are NOT allowed. Put away ALL electronic devices. 

• For your integrals you may use the following formulas. Anything else must be justified by your work. 

J 
xn+1 

xn dx = ---- + C,n =!= -1 
n+1 

j sin x dx = - cos x + C 

j ~ dx = In lxl + C 

j cos x dx = sin x + C j sec2 x dx = tan x + C 

j cscxcotx dx =- cscx+C j secxtanx dx = secx+C = .I csc2 x dx =- cotx+C 

J hdx = sin - 1 x + C j - 1
- 2 dx = tan - 1 x + C 

1 - x2 1 + x 

• Show your work. If I cannot read or follow your work, I cannot grade it . You may not get full credit 
for a right answer if your answer is not justified by your work. If you continue at the back of a page, 
make a note for me. 
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mg mtegrals. 1. (10 points) Evaluate the follow· . 

(a) j 7 cos(O) sin2 (0)d6 
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(b) {l_x_dx 
Jo 1 + 5x 
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2. (10 points) Define g(x) -1x - f(t)dt where the graph of f(t) . . 4 IS given below. 

(a) Evaluate t &e following: ~ 

g(o)~ ) fli) -- ) f(t\ ::. -40 

g(4) = Li 0 0 

•II6l~ ~- b.IO_ t- .!i ·.!? =. I0-30+~0:. 0 
~ r ~ 

g' ( 1 7) = t l \l) -;. I 0 

g"(ll) = t I(\\) :: jQ_ ::. ~ .s­
f! 

(b) Expr~ss g(22)- 9(18) as a definite in .. . . question will be graded 'th tegral and estimate it with n - 4 d I . " !l. WI a reasonable allowance for est· t' - an eftpomts. This 
.I... 1ma Ion error 

) f/t)tlt ~ [fh~)t fhf!)tfl:~.o)tfl!l.t\]1\t 
1'6 ~ I 0 t 9 . 8 +- '6' · 8' t 5 · '6' . 
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3. Find the area of the region shown below bounded by the curve x = - y3 + y2 and the line x = -2y. 
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4. (11 points) 

(a) Sketch the region between the parabola y = x2 
- 12x + 32 and the line y = 3x - 4. Label all 

intersection points. ' 

~ )(~~Li) 
l\~ \~?-) 

(b) Set up an integral to calculate the volume of the solid formed by rotating this region about the 
y-axis. Do NOT integrate. 

IV. ] 
) ~ 1fX.~tz-4 - (X 1-_ \1.J.+!.;l) 

3 
(c) Set up an integral to calculate the volume of the solid formed by r:otating this region about the 

horizontal line y = 40. Do NOT integrate. 

~~ ~ 

) Ti r ( 40-{1 ~-1:0 31~ _ 0o -I :,X -4) 
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(d) Set up an integral to calculate the volume of the solid formed by rotating this region about the 

~~~"~/~' ;:;o.~~T~~·~Of\ )o ~~ , ~ ~ 4 ().\,~ ?L~Y 
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